MZNE— (2018/3/15)

MUTHERE f(z,y) B2 f(r,y) =y + (2° — 4o+ 4)(z + )

HURE, RI&REREE, HUNIMEE,
f 9
1. (5%) ‘K = 8_3/
. of 9y 0@ —dw+4)(x+y°)
sol: - fole, y)a( 8%4 8.754;— ox o 2
_ s 2 _ oz +y)
=0+ 5 (x +9°) + (22 — 42 + 4) pe
=2z —4)(z + y*) + (2° — 4z + 4)

=2(x = 2)(z +y°) + (x - 2)°
= (2 —2)(3z + 29> — 2) & 32% + 229° — 8z — 4y* + 4.
af 0y  O(x* —4dr+4)(z + v

o(z* —4 4
=1+ (z 8y$+ )(I+y2)+(m2—4x+4)
=140+ (2% — 4o +4)2y

=1+ 2y(x —2)* &K 1+ 22%y — 8xy + 8y.

oz +y?)
y

2. (5%) REE 2 = f(x,y) B v =2, y = 1 LEHER.

sol:

= f(z,y) &R (a, b)) QYETSER2 = f(a,b) + fu(a,b)(z — a) + fy(a,b)(y —b).
HIBAS f.(2,1) =08 f,2,1) =1, At
DEB 2 = F(2,1)+ £o(2 1)z -2 + £ )y —1) = 2

Y.

3. (5%) BEMEER £(1.9,1.2) ZEMIE,

sol:

BMERE-HESPAYFEESR BA(19,1.2)2(2 KENS, TUMLEHZES
22 = yidE, U(1.9, 1.2)KAE £(1.9,1.2) =~ 1.2.

g f(x+ Az,y+ Ay) — f(z,y) = Az = f,Az + f,AyR—ER%EER
B2.A(2,1)EELBAz=19-2=—01B Ay=12-1=0.2,

F(1.9,1.2) = f(2—0.1,14+0.2) & £(2,1) + fo(2,1)(=0.1) + f.(2,1)(0.2) = 1.2,

4. (5%) 8& z(u,v) = f(z(u,v),y(u,v)), EHf

u? 4+ v3 v+ 2

x(u,v) = m and y(u,v) =

0z

'K = 752 — Hu=3,v=1RIE, Bxm: BEHEABILEE,

sol:

ov

z = f(z(u,v),y(u,v))
RBEHE, 2, (u,v) = z.(2,y) v (u, v) + 2y (2, y)yu(u, v),




BE z,(u,v) = 2z (2, y)x, (u, v) + 2y (2, y)yu (u, v),
Bu=3,v=1=2(3,1)=2,9y(3,1) = 1.
FIRA 2,(3,1) = 2,(2, 1)@y (3, 1)+24(2, 1)y (3, 1) AR 2,(3,1) = 2,(2, 1)@ (3, 1)+2,(2, 1)y, (3, 1),

v+2
w2 1
B2 K 2(2,1) = 0, 2(2,1) = 1, Rt y, = —2 = (v +2)(— ),
ov2 142 1

1 1
Yo = v = E, qu(?%l) =0+ 1(_ 32 ) = _57 20(37 1) =0+ 1(5) = g



